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® Please check that this question paper contains 7 printed pages.

® Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

® Please check that this question paper contains 25 questions.

® Please write down the Serial Number of the question before attempting it.

® 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the

question paper only and will not write any answer on the answer-book during this period.
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Candidates must write the Code on
the title page of the answer-book.
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Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 25 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

TR TSR

BUSINESS STUDIES

fREa aae - 3 g2 BT 37H 80

Time

allowed : 3 hours Maximum Marks : 80

I 13597 -

66/1

(i) 1 37% T1ct 3941 & 3K T Yeg & T q1a a7 &l /
(ii) 3 37P] a1 Fo7) & I 50-75 5] 3 &1 /
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General Instructions :

66/1

(i)  Answers to questions carrying 1 mark may be from one word to one sentence.
(ii)  Answer to questions carrying 3 marks may be from 50-75 words.

(iii) Answer to questions carrying 4-5 marks may be about 150 words.

(iv) Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

Teh G116 o e eie o1 931 37 3 7

What is meant by ‘functional structure’ of an organisation ?

T forg weRr Srfosadr & SRy sl a T g ?

How does planning reduces the risks of uncertainty ?

S ferfies qo § e soiagifam Icarg) st ueh fmioft et 2 | 9% e 3T g,
T -3uehTUTl, SATSATTH 3TTTG SRq3T H A GHL 3T WU & WETsd %iF 371G § SR
HA R |

HIHT BT HETHS e o1 e 3ared, fauvm e fom & f=-f= stemey o ) wsft
HIATCH ST TG 1 GEE HLd & T THI-THF T 3Teh! AT hl TR &l
STt ot | 39 HRT THT Y TSR HISAEAT AU SA-afaurii foarg s/ mu | fafsmsedr =t
ST ¢ o foTT SHrat o g SRl At Wa o qedent, Tfta-3Iussen, difeaieum
TG 1 “HifSA qUT U I HIATSA ®IF I ST Selagi-a6 o IT=HIA arfiehd
A 1 faoig foram | v ek WA 3 yery % U w1 T UishAT % Tsh ROT 1 fAsaTe
ToRaT | 39 =TT 61 Ig=TH ST |

Zamon Ltd. is manufacturer of electronics goods based in Pune. On one hand it deals

in items like books, music instruments, videotapes etc., and on the other hand it deals
in laptops and mobile phones.

The company had a functional structure with separate heads for production, marketing
and finance. All the functional heads were looking after the products, but at times their
activities overlapped. This led to problems related to coordination and inter-
departmental conflicts. To facilitate specialisation Ramit, the CEO of the company
decided to group books, music instruments, videotapes etc. under ‘Media’ and laptops
and mobile phones under ‘consumer electronics’. While doing so Ramit has performed
a step in the process of one of the functions of management. Identify the step.

2
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‘Hrugaue fafite’ 2o Sardl % <R # offt T Frot ] | 78 37 ScTel i ToRY™ 3
T Sl & qUT §78 feoeft o fafir= Wil 4 St 8 | v wig 4d U gfermon smenfa
Hro AfE fafiies’ 3 e & awgat i Avft < wr fooelt 6 SR | yow TR | gfamn
smaTia ‘Af fafies’ % o @ ‘iuaaea fafiee’ i wrsia 36 i SAeRashdist T
TS 9Tl UM 1 Iooi@ HIWT | Wi @ divgma ffies f wrivfia G f
JTATIHATST bl THTFId A ATeT T T 10 GRAT |

VXL Ltd. is a company dealing in dairy products. It procures these products from
Rajasthan and sells them to various parts of Delhi. A month before ‘Merio Ltd.’, a
Haryana based company entered Delhi market with a similar range of products. State
the impact of entry of Haryana based ‘Merio Ltd.” on the working capital
requirements of VXL Ltd. Also, name the factor affecting the working capital
requirements of VXL Ltd.

aroft et G el da i Afies SwAf Screl S Udiferm, firdt @1 awt, Tadish
ZoTfe o UTSHI0T T IIShIoT H HoTd Ueh <) Aol 8 | 36 JAfdehial 8 37=] =i ured
FH Al B | T8 AR oy 31fia o T @ qen frafia §9 @ 319 STS1EEhl ST ATt
WA LT 2 | Toh TS o Toriia ag 39 0 SATdie shrRIsier Sl shl STreeehdl ¢ |
30 39 TR 1 YPIaH 91d | 3773 TEH o I i shl GHTSHT 8 | St o1 forfir yeiersh
RIS s, ATfoTfSoreh Sieh & ford ITed s hl Shrifafires SATawehdnati § el w1 =g |

germa < fop et 3ot srfofea sriefier ISi sTawaesharsti 6t 4id &g 7w
for 8 WA L |

‘Vani Oil Refinery’ is a large company, engaged in processing crude oil and refining it
into more useful products like Petroleum, Kerosene, LPG etc. It has build good
reputation over the years. It has been consistently earning profits and paying regular
dividend to its shareholders. It needs additional working capital immediately to
finance a project. It expects to return this amount after seven to eight months. Ashish
Batra, the Finance Manager of the company does not want to get into procedural

requirements of securing finance from a Commercial Bank.

Suggest how the company can raise the required finance for meeting its

additional working capital requirements.
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Toraqur-firsy <t 312 &fSiw |

Give the meaning of Marketing Mix.

Ff¢ HET o 9 T HIY & 9T Ta- I8 ot =1gal 7 b o[ qesi W e feem
T8 A1 HEa! foramor 1 S © S[@e ST 7 39 3T 6 THYE H HR0 G |

If the company has enough funds and the management also wants to have greater
control on the channel members, which channel of distribution should the company

adopt ? Give reason in support of your answer.

T foepe fmtar e T8 90 I e 9 foRivaet W sneaia fafte @ %
foregpe s ® wqa fepu SO ‘it farepe’, “wefie Wieer’, it Sifeft’ g |

forepe & el & oot ot @ faftm o § 9 qon foegpel & fafv= @l =
T3 ol 3T B R Y |

JuLierd Fed ST o Gl A1 hl T&=H HITT |

‘My Bakery’, a biscuit manufacturing company, launched biscuits with different
flavours based on quality and features like ‘Crunchy biscuits’, ‘Sweet Potato’, ‘Coffee

Jolly’ etc.

The labels on the package of the biscuits are with pictures and different colours

indicating and specifying the flavours of the biscuits and their contents.

Identify the two functions of labelling discussed above.

‘ST F “Terenietor’ § T 3MYRi W 3twHE SHifT :
(i) T <t Tera==rar; (i) e e (iii) 329
Distinguish between ‘delegation’ and ‘decentralization’ on the basis of

(1) Freedom of action; (ii) Status and (iii) Purpose.
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‘Y Td Wl ok SAfafied ssHaTEl o1 STREia @ & foe few s gt fordl &4 focfi
TUeh! oh1 Ioei ShITWTT |

State any three financial incentives other than ‘Pay and Allowances’ to motivate

employees.

forclar o & &1 8 foiwy oreH 1, 3199 ARy A" $I, Th T8 aREieEr & faw
orent Imes wiE H 2, U $-Te WS | Feiy Aot sh 7 off, s vt v g utew
ST AT, ifehd TR oft 98 oot H 9o 95d 9 Ieal < artaeh 37 i T8 99e o | 98
forcita sraver o & forios ot =2 o | 31 &1 &, 0l o H© WHI hT G B W
ST W 38 TehR & ek R o1 o6 3o srga -t amyfat o1 g feeh R wew 1 31
= g |

() @A I 3-HoT O TN <6t g1 fafsre snensti i vgem i |

(§) g g Aforsy H 3799 FEINT hl YWl S B STed (31) § e T
ST i G HT Tl [oheal &l IURAT hl Jeeid T |

Lakhan, an expert in the area of Financial Management, sent an e-mail to his
subordinate Thomas about a new project for a client in France. Though, the mail was
in English, a language known to Thomas, he was not able to understand the actual
meaning of many words used in the mail. He was also not a specialist in the field of
Financial Management. Not only this, some portions of the mail were translated from
French to English in such a manner that many mistakes crept in, causing different

meaning to the message.
(a) Identify two specific barriers to communication in Lakhan’s e-mail.

(b) State any two measures which can be taken by Lakhan to overcome the barriers
identified in part (a) above to improve in future the effectiveness of his

communication.
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e fafiee & fog yeras ey @i qen yeeg fews ‘31qe Suet’ 31 ada
T 3 SRR 3 e TR O % E e i e i 8 | A0 fres
@ aul § 5078 37k §¢ A1 g’ ol 3¢Yd LA g AT A F gerra fean o wwar &t
TRl €t ST Safeh 3T AIST 36YT 3 ferehed A&l o7 |

I <l I T SANTAT bl €I § WA 5T TAHT EIH o YRR &g ST
fopu S ot ferd—wa 1 ggma €T | I fvi oF % fole o § W S ate 7 @
HTehi ol off THEITST S5 TR SRIad | TehTel STAT T2 |
Neelabh Sarin, the Finance Manager and Atul Chopra, the Managing Director of
Ghokerns Ltd. were discussing regarding the source of finance to be raised for
modernisation of their existing plant. Quoting that ‘Sensex has soared by 5078 points’
in the last three years, Neelabh Sarin suggests that equity should be preferred while
Atul Chopra wanted to opt for debt.

Keeping in mind the high operating costs of the company, suggest the source of

finance that should be used for modernisation of existing plant. Also, explain the two
factors highlighted above which should be kept in mind for taking this decision.

ST b GISChIUN H STHTERAT-TEVT b Wewl o fohegl oI TGl ohl THATST |
Explain any three points of importance of consumer protection from the point of view
of consumers.

JTZUCTETE o Teh IcUTEH U IMEH TN W’ 8 IigH 9t A fraTE a9 T 38 T-T
Terafta s 1 SeE™ 3RV T |
39 ¥ o T 1TE o foru fafaenfor dsft W 20% @y 1fia w6t 2q STevuereTe & fafir=
T W fafi= yer 6t firaTean <6t fersht o6 qafgam <t s o8 |
Yh I 10% hl S@IaL! o |1 I8 FaH a9 o foTT T 20,00,000 1 fosha @ faffa
fopam |

U UYEI 38 3 HAYRIhaiati & =57 &g A (ufia fre @ a8 F=n v
I BT | TRISH TheT g3 AT ATHR 3T AT bl UT HiA § THA &l Tl |
(31) I © dfekial =l Iy hLd Y foheal G1 FehI ol A1 shl Tg=H Y |
(9) IUUed () § Ig=HT T8 TSI o Tehrl ot 371 +ft S |

Vardan Patel started the business of preparation and supplying sweets through home
delivery at a production cum show-room ‘Express Sweets’ at Ahmedabad.

He made a plan forecasting the sales of different types of sweets in various
localities of Ahmedabad for each month of the year to earn a profit of 20% on Capital
employed.

He set a sales target of ¥ 20,00,000 in the current year with a 10% increase every
year.

He then set the criteria for selecting suppliers from whom he would make
purchases of raw material. The planning paid off and the business was able to achieve
its targets.

(a) Identify any two types of plans by quoting the lines from the above.
(b) Also give the meaning of the types of plans identified in part (a) above.
6
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w.t.un. fafies 3 feame Tew & e fUse &9 ° S8l @R gry 3nfis gerar SeH i
STl & AT o HEA U W IUAH 7, Ueh Soifageh IUHLN oh (AU BT HR@HT T
femar |
o 9y | € ©.oft.um. fafiee 31 Icre) bt 9 ST W 3T ek T ATy
IR T | TheT 55 | THHT HRUT AT HUATRAT o STUBR T IAGIRIcal hl AT i
e T U qRATINA BT qUT FireA o ety Tener &g fafv= favmt & wfafafet =
THTA Td Thishd AT | HFIT o ICITG Ta-Ueh i o Hedl T el HIA ohl IucTsdd
2q Teh ITYfciehal o1 off Udl =el | 36 ITHIGH =g 38 HEHT b Ja-u-Tigereh ol Ut 1
o | iR 38 STHIfea S aun o yageh & fod < & o SRifaraes faawsi o
SHIOT HATC & TCT 1 Fehl |
(%) IS % I YR i Tga™ it feeh Hror wrifafus oo gu an s
HH Tl T AT WA AT i 1 ATH T&| 31 Tehl |
(@) IWF (%) H TgIH T TS &b YR o Teh o b1 Jooid <hitre, frehl ==
IR ferfa 5 T8 I TS 7 |
(M) ... fefide gr | i SRt fohe 7T fohgl € Jedi o1 ¥ Sooig hifT |

A.V.M. Ltd. set-up its electric appliances manufacturing factory in a backward area of

Himachal Pradesh where subsidies are provided by the government and labour is
available at cheaper rates.
A.V.M. Ltd. was able to produce its products at low cost thereby generating enough
profits in the first year itself. It was because of the fact that the limits of authority and
responsibility of the employees were clearly defined and the activities of various
departments were co-ordinated and integrated. The Production Manager of the
company also came to know about the availability of raw-materials at cheaper rates
from a vendor. For this he wrote a letter to the Managing Director of the company for
getting sanction. But because of procedural delays in getting this sanction and
procuring funds from the Finance Manager, the order could not be placed.

(a) Identify the type of organisation, that led to procedural delays and because of
which the company could not get the advantage of procuring raw material at
cheaper rates.

(b) State an advantage of the type of organisation identified in (a) above other than
those discussed in the above case.

(c) Also, state any two values communicated by A.V.M Ltd. to the society.

7
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‘T T’ & gearq Yy o fa=mon et <6t ufshan & fote S arel =/t o6t Jues |

Explain the steps to be followed in the process of controlling function of management

after ‘Setting Standards.’

1o TTEfien forners wied U S < UwETd, 15 99 6t g # Sfag 1 e sie fon
3R 319 forem & 31efi wfdreqor e she TRy o feanm | 5ok Tuan, weh gufeg fetefi-
it 9, fgin sga-=f wrufaei o et e o | 3u wfafer s1oa fuar & oy & w
ST 3TRY o feam 3R 98 3% &1 & §U 95 9F 9 ¢@dl o | Sfae s e
fafgan o 3Tt 98 H 6 qehiient ol Sog & Hi@ T | 39 Sfag & frar 3 38 s
% gla-U= fim 3Ry o feu | T sfias & wrer-any Sfae 4 3wl S ure
o 3t 3R ¥ we gufig fesielt-fieadt s7 mn | o8 SmaErtyes e | fostelt & ar
ZTel o foTu 38 germm 3Ty K feam |

() I e | Afea Tiregor i fafdr 1 9 sramv |
(@) SfTeT YT A % YT Sfg 1 U B Aol Tohegl ofiF T BT Ieehd <hIfT |

After passing his secondary school examination, David left the school at the age of 15
years and started getting training under his father. His father, a renowned electrician,
had worked for many companies. He everyday started accompanying his father on
work and watched him carefully while working. David was a good learner and learnt
the techniques of work quickly. Now his father started passing on the tricks of the
trade to David. With the passage of time David acquired a high level skill and became
a well-known electrician at Indore. Big business-houses started calling him for

electrical-wiring.
(a) Name the method of training discussed in the above para.

(b) State any three benefits which David could get on being trained.

o TSI o Tergl =R =wrt <hT 9l <hifST |

Describe any four functions of Financial Market.

8
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A A e U % fAu semEd off | W wfdfen emet oft fb s
Hrd-Teret B AT 31Tt 3Tkt 1Y TR T for 2h At e et et ® | 3roht et
3T 1 SgH o To1T 36 b Tl —Tan Iy shed ot Foie forar | 31 & 3o ot uee
B Tl <1 Temg e 3Ty o | S7oet | @ foem-ferst <6 uwea 9 wffer wism w6
o gt qOR wd off | 1o aned & fawa § @R I giua W % foe e T
FfI-FeX FETHsh TrRele dIR T, 38 SUamT a1 39 <fHeh IWTER-T=1 & Wie 9
Fie 3T foram | 3 fefth o forawor 2q @ forawor s oot wrgent <1 oft Frgfer it |

IR T SIErE €HT o1, W §1¢ H I8 TR Ihe T | YW 018 § 98 30T 6
20% 1 3R HH T T §8 |

(F) AR T T Tl Fanati & an § geifyd S 3 fore | gry SwarmT & g
T e - fafer St wgem AR |

(@) =g ud A1 o foaue o fore 3w (&) O g 18 ved-fafy i fhedi =
fHeR1ati b Joor@ HITT |

Sara was pursuing her graduation. Everyday she saw her mother working tirelessly at
home after coming back from her work-place. She decided to start a tiffin service to
increase her family income. To begin with she started supplying tiffin only in the
neighbourhood. Everyday she detailed out the menu after consulting her mother. For
informing the people about her service she designed a beautiful informative pamphlet,
got it printed and started distributing it through the daily newspapers. She also
appointed two delivery boys to deliver tiffins.
The business was slow to begin with but picked-up well afterwards. She was
able to earn a profit of 20% of the revenue in the first month.
(a) Identify the promotional tool used by Sara to communicate to the customers
about her tiffin service.
(b) State any three roles of the promotional tool identified in (a) above in marketing

of goods and services.

AT i forgl g foRarati 1 3ot Hifsu |

State any five characteristics of co-ordination.
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G fefiree ue agusd wmstt st 8 faeh geres aifvmed et 8 7 | a8 fava
o fafyr=T <l & FIS/@m1 w1 TSR S L & |
IE Tsh UHI AT & TS0 30 i G1awol, add a7 faestd sl T9TEH13A o Rl
WM R T o WA @ & | B I G- TEEU-SEhd @ a1 fafi= <o o A
HeWTE &d ITaTeReT § 1Y -1e Rl i & | §aM A o Tergeh e an =i ®
SR gd & forees g st ® wmfivme qen fser giafeaa gt 2 |
g TYE o TCHIT H UREdieh fovare ua o=y <t 9iaHT i off Wicdtfed St 8 | 39 TR
THE HT I T Hleh GIaH [AHSE 379 e ol T i H T 55 & | THT Hleh
& ffires & yarersh Jo4 o $o Rigrdl 1 Faflg R § |
U foh=gi 1 gl <h1 TereiTig o aHesy |
Deewan Ltd. is a multinational consulting company with its headquarters at
Washington D.C. It hires young people from different countries of the world.

It is a company in which people dream to work because of its work-environment,
pay and growth prospectus. The company has a culture of open communication and
people of various nationalities work together in a discrimination free environment. The

behaviour of managers of Deewan Ltd. emphasises kindliness and justice which
ensures loyality and devotion of workers.

It also promotes mutual trust and belongingness among team members. In this
way management of Deewan Ltd. is able to achieve its objectives by promoting team
work. By doing so Managers of Deewan Ltd. are following some principles of
management.

Identify and explain any two such principles.

T TR % 9T, ST W@ee o fofu g1iere &, 3794 7Tid | U1g ST areft Sei-gfei

ITART hieh MG - YU IcUTEH hl Teh HrdH! ivieh fAflies’ <l TAT9T I | 3G 1

Uohs TTaRofi - T o 9 36 W ged, uTA, STqasy, SUIT-ag - ey qen 3= wefa

T3 1 faawor o1 | 38 W g IuieT-Sansti qun Rekr s % TFes faawo

S T, ST O qUT 3-HA TSl Y off | TR 3T AR B T 9T 36 gUieg

ST & STeE e 3Ty &1 |

() SUe TTeId ITHTRATIAT oh fehral ol SRR hl &= shifoTu qeiT 3= THsy |

(@) W gl g gl o1 ¥ Iooi@ IR T gfieh e gRT THTS ol FRITYA fohT T
g1

Aditi set-up a company ‘Dantik Ltd.” to manufacture toothpastes using herbs found in

her village instead of chemicals that are hazardous to health. The package of the

product was eco-friendly and had details like price, quantity, ingredients, directions for

use and other relevant information. It also carries the contact details like address,

phone number and e-mail id of ‘Dantik Consumer Services and Grievance Cell’. The

toothpaste became very popular and she started getting orders from reputed traders.

(a) Identify and explain any two Rights of Consumers discussed above.

(b) State any two values being communicated by ‘Dantik Ltd.’ to the society.
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HHET ST ! HEfH1 G i o &7 H doil ¥ g3 A 6 T G AT Teh USI I
TS T TorshTe foma T B T 38 319 I TS <hl TRTREhdT ITed &1 oTei! 2 |

THH TS % I W A 3 3w i ffa s B e R | gee e ud waTe
At TehR % T HIAT B qAT AT o TIAT o I off AT B | W ITE T - shl 3R
ITHTSATSAT o GISCRIVT, SUSATRT Sl TR TT S shi TUE T $Heh THTE oh GISTd 36
fawa %I FEUrigEs TUeET B | hg, TS99 UHE &R/ ) ol wfleEi qen
TSI o 3TTC aT Fuiel o W ¥ WRd SRR 9 a1 HefHT Sfad o 9 |

AT 2 T ST Fgeqo] HHeh i g H & 2 |
I 31TTae H Faferr & fafi= s fr w=i A g 2 |

IR T UfRRIT <l 3G Al U Fohral i STTRITHI 1 Tara <hIfTT T 3 |weisv |

With rapid advancements in the field of replacing manual work with machines, a robot
named ‘Sujan’ has been invented and developed and is likely to get the citizenship of

the country of its origin.

It has led to a stage where machines are being used in place of human beings.
‘Sujan’ is doing all types of work whether routine or hazardous and even answering
the queries of people. However, this issue has to be carefully looked into keeping in
mind the consumer attitude towards product innovations, problem of unemployment
and its impact on the quality of life. Through the orders and decisions of various
commissions and agencies at Centre, State or local level the Indian Government is

playing a very significant role in balancing the use of human and machine power.

Various dimensions of business environment are being discussed in the above

para.

By quoting the lines from the above identify and explain any three dimensions.
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T Soiferead Irgae forfies’ o e Yaweeh o gl ug fod 9 | HHe T|ne veesh e’
 HTS oh 376 U B Teh Sugea Wil Tovara’ whi ug= shi aU1 38 HEReh eEeh o U¢ W
TEId TG | GEX UG o ToTY Sreareh 0Tl o Uoh TATOH TSI <l Wl off dem ‘geltd’
&1 o fFa | ®: ATg wwEg Wl 3 <@ fop favara’ w1 fsare gefin’ % fasared &
SER o7, FEU ‘Tovam’ o) Ingdt gefi| 9 & oft | 31 e’ 3 Foig forn fop wiosa g 9w
Torelt Sl & | 1S Frgfed & T |

TY TRl = STt bt AWEsy ek e o el 3 Iudie ot form grm |

There were two vacancies for the post of Assistant Manager in ‘Gyan Electrics Private
Ltd.’. ‘Parth’ the Human Resources Manager identified one suitable candidate
‘Vishwas’ from within the organisation and promoted him to the post of Assistant
Manager. For another post, the Manager ‘Parth’ took help of a placement agency and
selected ‘Saleem’. After six months, Parth observed that ‘Vishwas’s’ performance was
much better than ‘Saleem’s’ performance though ‘Vishwas’ was less qualified than
‘Saleem’. Hence, ‘Parth’ decided that in future he will not make any appointment with

the help of an outside source.

Explain any four reasons on the basis of which ‘Parth’ would have taken the

above decision.

Fa-TrTga-a=n &1 @ 319f B 7 38 e | 18 ufafoai < e 6 fafie fafte
TN |

What is meant by ‘New Issue Market’ ? Explain the various methods of floatation of

new securities issues in this market.
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